BUNDESAMT FUR
SEESCHIFFFAHRT
UND

HYDROGRAPHIE






1.1
1.2

1.3

1.3.1

132 "# $

133 " $ %%&

134 ( $ ) I )

135

136 )

1.3.7

138 # 0% $ $ /
1.3.9

1.3.10 1

1311  $

1.4

1.4.1 2
142 % $ 0% %3 4
143 % $ 0%

144 % " * 4 )

1.5 % 6 * 5
1.5.1

1.5.2

1.5.3 $



1.5.4

1.6
1.6.1
1.6.2
1.7
1.8

2.1

2.11
2.1.2
2.1.3
214
2.1.5
2.2

2.21
2.2.2
2.2.3
224
225
2.2.6
2.2.7
2.3

2.31
2.3.2
2.3.3
2.34
2.4

2.41
242

86

/!

25

2!

14

2/

45



243

244
2.5
2.51
2.5.2
253
2.6
2.6.1
2.6.2
2.6.3
2.7
2.71
2.7.2
2.7.3
2.8
2.8.1
2.8.2
2.8.3
2.9
2.91
2.9.2
293
2.10
2.101
2.10.2
2.10.3

2.104
2.11

13

5/



212
2.13
2.14
2.15
2.151

2.15.2
2.15.3
2.154
2.15.5
2.15.6
2.16

217

3.1
3.1.1
3.1.2
3.1.3
3.14
3.1.5
3.1.6
3.1.7
3.1.8
3.1.9
3.1.10

$$

$%

6

6

6

3112 $ %

3.2

3.21
3.2.2
3.2.3

7

#

8

)

+$ )

%%&

$

9

$

)

%%&

41

42
42

4

45
45
45



324 " 5'
3.25 54
326 " % 5
3.2.7 !
3.2.8

329 6

3.2.10

3211 $ %

3.3 -
3.3.1 8 /
3.3.2 2
333 # 4
3.34

3.3.5 5
336 " %

3.3.7

338 6

339 $%

3.4 )

341 # 86 !
3.4.2 -
343 # 2
3.4.4

3.45 ;
346 " % 15
347 6 15
348 $ % 15

3.5 # !
3.5.1 8 !
3.5.2 !



3.5.3
3.54
3.5.5
3.5.6
3.5.7
3.6

3.6.1
3.6.2
3.6.3
3.6.4
3.6.5
3.6.6
3.6.7
3.7

3.71
3.7.2
3.7.3
3.74
3.7.5
3.7.6
3.8

3.8.1
3.8.2
3.9

41

4.1.1
41.2
41.3

$ 3 I

$$ 14
1%

7 %) $ '5

86



414
415
4.1.6
417
4.1.8
4.1.9
4.1.10
4.2
4.2.1
4.2.2
4.2.3
424
425
4.2.6
4.2.7
4.2.8
4.2.9
4.2.10
4.3
4.3.1
4.3.2
4.3.3
434
435
436
4.3.7
43.8
4.4
4.4.1
4.4.2

7

86

86

$$

86

<

X K~ K K NN



443
4.4.4
445
4.5
4.5.1
452
453
454
455
4.6
4.6.1
46.2
4.6.3
46.4
46.5
4.6.6
4.7
4.7.1
4.7.2
4.7.3
4.8
4.9
4.9.1
4.9.2
493
494
495
4.10

5.1

86

~

$) % -

$ % % %



5.2
5.21
5.2.2
5.3
5.3.1
5.3.2
5.4
5.41

6.1
6.2

6.3

6.3.1

6.3.2

6.3.3

6.3.4
6.4

8.1
8.2
8.3

9.1
9.11

o O O O O
&

$ %

9

"+, 1 9+

"+, 1 9+
"+ 1 9+

%

$* /

$* 2!

2/

22

24

24

45

)&
4/
4/

)
44

44



9.1.2
9.2

9.21

9.3

9.3.1
9.3.2

10.1
10.2

11.1
11.2
1.3
11.3.1
11.3.2
11.3.3
11.3.4
11.3.5
11.3.6
11.3.7
11.3.8
11.3.9
11.3.10
11.3.11
11.3.12
11.3.13
11.3.14

55,
%

8

#

6

$$

$$

*

152

+C $ *

151

154

151

15/

14
14
14



11315 ( $
11.4 )
115

16 " $
17 6
118 " $
119 % $

*

12
14

15



$

#$ E7 ) $ %%&F FFFFFFFFFFFFFFFFFFFFFFFFF
#$ E7 ) F FFFFFFFFFFFFFFFFFFFFAFFAAAAAAAAEEF

#$ ET7 ) *
$ IIIIllllllllllllllllllIIIIlllllllllllllllllllllll.lllll Fl

#$'E7 ) =
lllllllllllllllllllllllllllllllllllllllllllllllllllllll FFFFF
#$ E7 ) %6F FFFFFFFFFFFFFF FFFF ;
#$IE S * %6 %%&F FFFFFFFFFFFFFFFF AR FFFFF
#$ 2E9 * * F FFFFFFFFFFFFFFFF
#$ 4E%. * $% $ FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF
#$ E% *$$ $ F FFFFFFFFFFFFFFFFFFFFF A
#$ 5E%. *$% $ ) F FFFFFFFFFFFFFFFFARAAAEF |
#$ E( * $3 7
% 6  FFFFFFFFFFFF FFFFFFFFFFFFFFFFFFFFFF AR A A
#$ E1) ) *  FFFF FFFFFFFFFFFFFFFFFFFFFFF R
# $ IE ) *
+H# <G 5 5, FFFFFFFFFFFFFFFFFFFF AR R
#$ 'E * o + * * =87: 5, 9
lllllllllllllllllllllllllllllllllllllllllllllllllllllll FF
#9$ -E $ *B +=87: 5 ,F,
#$ /E $ ) # FF FFFFFFFFFFFF -
#3$ 2E * * + $ < $
5, # $ FF FFFFFFFFFFFFFFFFFFFRAAAAAAAAAFFFEFF
#$ 4E9Q $ # ) $ H *
+ 3 B ’/” FFFFFFFFFFFFFFFFFFFF|_|_|_|_|_|_|_|_|_|_|_|_I_I_|_I_I_I_|_FFFFF AN NN NN NN NN NN NN NN
#$ E $ ko $ + =87 5 [FFFFFFFFFFFFFFFFFRFFF
#$ 5E $ ) *
s ) 6 F FFFFFFFFFFFFFFFFFFFFFFAAAAAARRRRRRRRFF
#$ E $ 6 + =87. 5 F, FFFFFFFFFFFFFFF-4

#$ E $

\]

+ =87 5 ,FFFFFFFFFF/



#%$ IEQ $ . 7
+ EB6"6 B6 ;4,FFFFFFFFFFFFFFFFFIFRAAEFFFFFFFFFFFFFFFFF AR

#$ E * $ $ +:55@ i,
C61 %1  F +;;FFFFFFFFFFFFFFFFFFF A - F AR
#$ -E" * $ *+;55D ;;/, C61 %1
+ ’”’FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF A e FF‘
#$ IE * ) C61 %1 +:::,FF2'
#$ 2E# 0% * $ $ -1 -5D* /D
5 5 + = 5 ’F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF NN NINI NI NN NN
#$ 4E" * $ $ "%
* 01> 6 55'F FF FFFFFFFFFFFFFFFFFFFFFF R
#9%$ E $ . , D+
* , . + *
°O ., ; -@5-+ 631 F 5/ FFFFFFFFFFFFF4/
#$ IBE" 9 * .
+ =36 ( F 55,F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF ARG FFFFFFF
#9$ 'E 9 =% % F+5-F=% 7"=3
=% 7"+ 5! FFFFFFFFFFFFFFFFF FFFFFFFFFFFFFFFFFFFFFFF R
#$ 'E1 $ 9 %%& + #1 55/,FFFFF;4
#$ IE1$ < 4 1 5/+
F ) $ . % $ )
o 5/+ : 6"31 F 5 2,FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFE)
#9$ I'E $ $ <
# o S5 F( ) $ * *
D ) *+ 6"31 F5,F FFFFFFFFFFFFFFFFFFFFFFF R 65 FFF
#$ 1-ES$ * $ 5 2F FFFFFFFFFFFFFFFFFRRAAAAAE FF
#$ IE= $ * $ *
$* # o+ , *" $ + , B +! ,
6 $ + , 7+ F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF
#$ 12E $ $ $) +55D
55/’F FFFFFFFFFFFFFFFFFFFF N O A A A AN AN AN NN NN NN NN NN NN FFF
#$ lE $ + , 9
C$*8# $*55+ $ =" 6B71% K96(=% 55;,F FFFFFFFFFFFFFFFFFFFFFFFFFFFFF
#$ LET S + 9 $ D

$* 1| 5C$*5 + 6B71% K96(=% 5 ,FFFFFFFFFFFFFFFFFFFFFFFFFFFFFF



#$ BE7 $ D $ + , 9 # $*
5 / + $ * 7 B%1=69%1 F 5 2’FFFFFFFFFFFFFFFFFFFFF NN OO O O O O O O
#$ 'E" ) $ + 9
* 55D 5 + D $ * " 6B71% F 5-,F FFFFFFFFFFFFFFFFFFFFF °
#$ 'E $ $ 9 +) 555D 55-J
71169  F 55/,F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF R
#$ "E$ $ ) $$ + , ) 555
55-+ 71169  F + 55/,F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF
#3$ "E $ D + *
C$*5!+ 6 B71% F 5'FFFFFFFFFFFFFFFFFFFFFF R R F
#$ -E 6LM $ *
) +H# E ) J % % 63" F 554 ,F FFFFFFFFF -5
#9$ 'E $ $$
+ % % 63" F 554,F FFFFFFFFFFFEFFFFF AR - F AR R R R
#$ '2E * $ ) ) +
* 6L $ 8 ) 6 J
= 55, , F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF T 0
#$ 4E $ ) + N
N$$ F * 6L #
) 6 J E = 55;,F FFFFFFFFFFFFFFFFFFFFARRRRRRRRRE FEFFFF
#$ E# $ $ $3% +
E $ J EF $ ) $ J % % 63"
F lllllllllllllllllllllllllllllllllllllllllllllllllllllll FF‘
#$ -5E $ @) $$ 55-+N //
J % % 63" F 554,FFFFFFFFFFFFFFFFFF R FFFFFFFFFFFFFFF
#$ -E #08% * D + E $ E ,
$ ) P$ $P $$ 55- )
+ % % 63" F 554,F FFFFFFFFFFFFFFFFF AR AR EFFF
#$ -E" +( N $,
$$ + % % 63" F 554,F FFFFFFFFFFFFFFFFF AR F i
#% -lE 6 # F * % * 3
$ F( $ * ) F(
+ ), +($ 5 4, F FFFFFFFFFFFFFFFFFFF PR BEFFFF
#$ -E $ )
+ ,44’F FFFFFFFFFFFFFFFFFFFHFFHFFHFFFHFFFFFFFFFFF AN NN

#$ -F ) F FFFFFFFFFFFFFFFFFFFFARARARARRRRRRE REFFF



#$ -IE D 6 P $ PFFFFFFFFFFFFFFAFAAAAE |
#$ -2E D P P FFFFFFFFFFFFFFFFFF
#$ -4E D P $ PFFFFFF ;
#$ -E 9 1 %%& FFFFFFFFFFFFFFFFFFAAFEEFFFFF
( E7 ) * $ 7 D%FFFFFFFFFFFFFFFFFF ;
( E )  *FFFFFFFFFFFFFFFFFFFFAAAAAA
( E FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFEFF]
( E +36 , Q+ 5:, o
1 ,FFFFFFFFFFFFFFFFFFFWFFFFFFFFFF A I
( E $ 7 $ )  *FFFFFFFFFFFFF -
( [E $ ) F FFFFFFFF 25
( 2E1$% 9 %%& + #1 55/,F FFFFFFFFFFFFFFF ;2
( 4E% 9 %%& +2,
%7  %7'F+ 6=7 F 5EN * N IN$
9N . =% 7" 51TE>3N$ 1(N ,F 5
( E
llllllllllllllllllllllIIIIlllllllllllllllllllllll.lllll FFFF
( B5E 9 %%& $
I +9% 5 52854 % 6(6
F4F ,FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF A FF‘
( E") $ 9 %9%&
" %1%  F +554,F FFFFFFFFFFFFFFFFRRAAAARRRRARRRRRre F AR P FFFEF
( $ D A $
$ 1+ 5 5,F FFFFFFFFFFFFFFFFFRFFFFF
( 'E6 9 %%&
%$ =% 7"F
) 31+ =% 7", FFFFF FFFFFFFFFFFFFFFFFFFFFFF AR R EF
( IE $ * * $
+ $$ J $E % % 63" F 554) $

=o6(= F 555 87>  F ;;4,F FFFFFFFFFFFFFFFFFF R FFFFFFFFFFFFFF



( -E $$ x 55  55!)
55! R 7 + $D: ) $$
# 552) O 552 554 +$ $J

$ E % %63 F 554,FFFFFFFFFFFFFFFFFF R - AR R F
( E7 $$ 0$ $ F
" $ ) $

D $ + % % 63" F 554,F

lllllllllllllllllllllllllllllllllllllllllllllllllllllll FFFFF

( 2E $ < +$% J $ 555, $
) + N * $ J #%

1(% 16( 716 55' ,F FFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFFF e
( 4E% +N  *F FFFFFFFFFFFFFFFFFF R EFFEF
( E% ) *+ N  *FFFFFFFFFFFFFFFFFFFFFE
( 5E% + N *FFFFFFFFFFFFFFFFFFARRRRRRAAAAE REF
( E% ) . +N  *FFFFFFFFFFFFFFFAFFFF!

( E% +N  *F FFFFFFFFFFFFFFFFFF R EFFF
(

IE % +N  *FFFFFFFFFFFFFFFFFFFFFFFFRFFF



6 6 $ + $
6
6 6% o+ :
6 761 6 1
%%8& %. $ % &

9 # "6

1 # 6 * 19%
#HT # 7
#7D1 # 7 1
#7D7 # 7
9 # )9<
1 9 )y  $ +# 19

6,

# 1) # 1) 6 * % *9 ( $
6 * )*

= # " =* 6 *
" v % 6
( $ *( 9

$ + $

( *
% 6 %
%" 71 $ * 9  %%& 1
%617 " 9 %% & 1
% :9 ) * $ *+% *6 ,
%31 %$ 1% *
%3 7 6( 6 %$ $
#% 6
HH#= # #3$ =
HH= % (>% $ : 8'18%% "* ; $

) $ += ,

= = <
=00 7" =

6

% $ %

6L $ 6 %N *

$ .
31 3 1% 13 $
$



"6 7

"17

167
11
7D1%

7 55;
7 D%
6 >
%
%

3B

3B $

(#%3
7

.y 1
) $
5548-18%  %$
$ 2C$ 554 # )

9  %%& 55;
9

+7 7
%% +
%$ ]

PF
P% *

% 6
558'8% %$
$ 2C$ 55
+%

( * #$ %$ 3

%%& 5
9



(7 ( T

3>9 )

36 # % 6 *

3> % $*

>6 > $ 6% *

>D 55;8 '28% %$

$ 51 55;

:(9 08






9 %. $D

% & +%%&,
# 9 $
6 +79, F )

2%

2 4

- $

) FF

6

55 8' 8%
6

@ P

79 # D

55; 2%$ D
79 $ )

F 3>9 3

6 .-F

6 F %6
%

14,F

554+9 F F ;4
7 ;C$ 55+9F

$ F6 4
79 % 6 D
$ D
* F
$ $
) ) D
$ )
$ F6 $
$ 79 E
=$ $ 9
#3 *
6 )
$3
)
F
* * D
F
( 0% D
6D
4 % 79F
6 *
$
D
)$ 3 4% D
79 F
6 F 6 . 4
79 * D
* $
$
7F
1.2 /
IO I
$ '# $*55 9F
*6 6 151

5/+9F F 2%F



79

F #

$
9 %%E&
$
)

»w O

%%&

$ 23 ! F
79F
6 2% 79
$ $
* $
*$ $ )
$ '$
79) $ $
) * D
0% ) D
$ * D
F
1.3 $
+ 0
9 * *
* #
6 +$ $ $, ) *
D
0% F
6 $
79 * $
0% D
$ $ 3
$ F
( * ) $D
*  $ 0% F
6 $ ! 79
$
$ $
0%
D
$ $ D
$ 0% $D
F
( # * $
$ *+
%%&F
$ F

D



) D # $ D: D
F s =
s % $3 D
0% F $ D: F D
1.31 ! 0 . i
D
) D ( 9 D
$ D $D
$ $ $$D +% "D>, :C$ 5/F
F6 b 111
) D= $ F D
F $ o+
$
$ 1 ) )
F $ 5-5F
111 ! % -2 111 %
) D= )
+% D=, M F( D
F(" = $ ) D
6 %0$ * $ F( )
) D= +" 9,
) $ F($ 55 F
% D= D
$ 5-F( D 111#
) D= $ $D $
55 % D= $ D F(
$ 5:F ) F
( < 5I5F
1.3.2 *14
% " $
* $
) 9 * 1
F( *
$ D
$ F(

$ +"3 5/, $ 9D



* # )
+" # "3 D
$
$ D
#F $
$ $ )
$ )
$ * D
E
"# "# D
$ $
%6F
1.3.3 * -
(5
52 $ D
# +19# > B
( +19B >, * @
A +19 > $
F 6
$ * D
$ D
F( )$ ¢ #
6 * 1% + 1 $D
) $ D
* $ )
$ D
$ *
# F
7 /C$ 55 1
$ 9% 2% !
19# > 2 $ !
19B > $ !
19 > D
$ 9
%%&F 6 $
) 26%3%
55F

% %

# $ 9 %%& $ D

) ) $ D
$ @FF D
@ F
$ D
* F( D
) D $D
) D
$ $ *
) F6 D
% 6 $
$) ) $F( %6
7 $) D



$ ) $D $ $
F( D $ * + D
* % 6 F F3 D
$ % D
F(
) $ * $D $ * 4 b
+ D
JF
) $ 3 $ 3>9
F6 3>9 ) D
$ *
$ 0% *
F ) 0$ 3>9F
$
) *$ * D
$$

Spatial Planning

Strategic Environmental Assessment

Site development plan

Strategic Environmental Assessment
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Suitability review
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Approval procedure
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Strategic Environmental Assessment
Environmental Impact Assessment
Environmental Assessment

Assessing the environmental impact on protected assets
in accordance with environmental assessment principles

Animals

ELIS
bio- Cultural assets People

diversity and other Human
material assets health

Benthos
Marine Water
H Air

space
Marine Sea floor
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Climate
Landscape
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$ o Environmental
$ D Pipelines and data cables Assessment

$ F Spatial Planning

6 ” $ D i) B Scientfic
$ ) $ I 9 Focus:

(wide corridors)
$ ) + , D Pipelines
Data cables
0$ Licensing procedure according o the Federal Mining Act

» Coencerning mining (through the Landesbergamt) and
- Concerning the organisation of the use and
exploitation of waters above the continental shelf and ’_
the airspace above these waters (by BSH) Focus:
Local consideration on request,
based on project-speedic information

Construction, operation and dismantling and framewark paramaters
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Procedural Related to sources Related to protected
assets

International/regional level

Biodiversity Convention, Bern

UNCLOS, Marpol, London Convention, Bonn Convention,
Espoo Convention Convention, Helsinki, Ospar Trilat. AEWA, Ascobans, Seals
Wadden Sea Cooperation Convention, Eurobats, Trilat.
Wadden Sea

European level

MSP Directive/ _ o )
EIA/SEA MSFD, WFD Habitats IE)lrec_tlve, Birds
Directive

Directive

National level

UVPG WHG BNatSchG,ar::;ure reserve

f ROG f
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Status description
Spatial distribution
Temporal variability

Effect of designation
(permanent / temporary )

Condition assessment
Criteria: ‘
* Protection status Impact prognosis

Population/ population trends, » Depending on
distribution patterns, species

number/ composition

Existing pressures
Function and importance of = Scope and spatial extension

the designated areas

= Intensity
= Duration / frequency

Environmental » Assessment of the likely
objectives significant environmental effects
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Maritime uses with designations in the maritime spatial plan

Potential effect

7 D%F

Protected Assets

§

:

Habitat change X X X
Loss of habitat and land X X X X X
Placement of hard R R
substrate Attraction effects, increase in
(foundations) pecies diversity, change in x
species composition
(Change in hydrological .
conditions
Iiﬁgcuggg‘sedlmem Habitat change X X X
Sediment swirls and _ [Impairment xt
turbidity plumes —
(construction phase) Phys_lo!oglcal effects and xt
scaring effects
Resuspension of
sediment and \mpaiment t
| Areas for sedimentation pairmef
loffshore wind | (construction phase)
energy
Noise emissions Impairment / scaring effect xt xt
during pile driving
(construction phase) potential disruption/damage xt xt
Visual disturbance . .
) Local scaring and barrier
e:e rkto construction effocts xt
Scaring effects, loss of X
habitat
Obstacle in
Barrier effect, collision X x
Light emissions
construction a ttraction effects, collision X x
ion and Al ion eff ollisi
ration)
wind farm related
(s::;’:g ::Iﬁec see shipping x X X X X X x x xt
construction traffic)
ok tion of hear Habitat change X x X
Introduction of ha
substrate (stone fill) || oss of habitat and space x x x x
Heat emissions . .
(current-canying Impalnnentldlfsplacem_enl of x
cold water-loving species
Cables Routes |°22¢3)
|for submarine Impairment x
cable systems | Magnetic fields
and pipelines  |(current-carrying Impairment of the orientation
cables) behaviour of individual X
migratory species
Impairment xt
Turbidity plume
(construction phase) |Physiological effects and xt
scaring effects
Underwater Sound  |impairment / scaring effect x X
missions and
discharges of
hazardous Impairment/ damage X X X X X X X
substances
|(accidents)
z’:r):snlgczlnillf;r:gance Impact on the seabed xt xt xt xt
|Shipping E:rl:.nssa':;d ar Impairment of air quality X X
Introduction and Change in es
spread of invasive Nge In spec: X X
species composition
Bringing in waste Impairment/ damage x X X X
Risk of collision Collision X
Visual agitation Impairment / scaring effect X




Maritime uses with designations in the maritime spatial plan

Veranderung von Habitaten

Removal of
substrates Lebensraum- und x X x
Flachenverlust
IRn materials Impairment xt
and gravel | Turbidity plumes
ining / Physiological effects and
. xt
investigations scaring effects
Physical disturbance |Impact on the seabed X
Underwater sound
during seismic Impairment / scaring effect xt xt
Jsurveys
i Reduction of stocks X
Sampling of selected
species - orat
IMarine Research P Deterioration of the food
base
Physical disturbance .
by trawls Impairment/ damage X
[Maritime uses without designations in the maritime spatial plan
Underwater sound Impairment / scaring effect xt xt
Introduction of
. hazardous Impairment X X X x
|National defense|_ ;i oo
Risk of collision Collision x
Surface sound Impairment / scaring effect X
Taklpg of species Reduction of stocks X
fishing)
Underwater Sound  |Impairment / scaring effect X X

$$

Installation of fixed

Im E:)""'usz:;d air Impairment of air quality X
Bringing in waste Impairment X X X X
Visual agitation Impairment / scaring effect X
Introduction of Impairment x x
nutrients
[Aquakultur Habitat change X X

installations

Loss of habitat and land

Sampling of selected

Reduction of stocks

species

Deterioration of the food
base

Bycatch

Reduction of stocks

Physical disturbance
by trawls

Impairment / damage
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Ecosystem approach
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draft alternatives
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Best available knowledge and practice
Precautions

Alternative development

Identification of ecosystem services
Prevention and mitigation

Relational understanding
Participation and communication
Subsidiarity and coherence

Adaptation
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Anthropogenic climate Marine ecosystem

> Sea state > ;
change v services

Structure and

function of
ecosystems

Objectives for
sustainable
development
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- of climate change planning ) and activities
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Seabed Sediments (BSHAOW, 2012) Il Very coarse sand, very poarly sorted

Classification after Tauber (2012}

B Gravel, very well sorted

- Gravel, well sorted

- Gravel, moderataly sorted

- Gravel, poorly sorted

- Gravel, very poorly soried

- “ery coarse sand, very well sorted
- “ary coarse sand, well sorted

- “ary coarse sand, moderately sorted
- “ary coarse sand, poorly sortad

#$ -E $

[0 cCoarse sand, very well sorted

I Coarse sand, well sarted

- Crarse sand, modarataly sortad

- Crarsa sand, peory serted

- Cearse sand, very poary soried
Medium sand. very well soried

- Medium sand, well sorfed

I Medium sand, maderately sored

- Medium gand, paorly sortad

- Medium sand, very poerly sortad

1
M00E

11°300°E

[ Coarse silt, well sorted I Fine sit, very poarly sored
I coarse silt, moderately sorted [l Very fine sitt, well sorted

I coarse silt, poory sorted I ery fine silt, maderately sorted
- Coarse silt, very poorly sorted - Wary fine gilt, poarly sorted
- Medium sitt, well sored - Wary fine silt, very poorly sartad
- Medium silt, maderately sored - Clay, moderately sorted

- Medium silt, poorly sorted - Clay, peery sorted

[0 very fine sand, moderately sorted [l Medium sitt, very poorly sort=d [l Clay, very poory sorted

Fine sand, very well sored
Fine sand, well soried

[ Fine sand, maderately sorted

- Fine sand, poarly sorted

- Fine sand, vary poory sortad
Very fine sand, very well sorted

Very fine sand, well sorted

B very fins sand, poarly seried I Fine sitt, well sored B ciy
- “ery fine sand, very poarly sorted - Fine silt, moderately scred - Lag sedimantTill
Coarse silt, very well sortad - Fine silt, poorly sorted - Peat
r'_1 Stenes
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10°50'0"E
1

M*0'0"E

M*100E
1

z
Z R
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o — Geodétischa Datum: ETRS BR
s Kartznarajektion: LAEA
=, s 00498 16 24 2.2 Fehmam
A T ilomaters
1 1 ]
10°600°E 1 00E MM00E
Sedimentvertellung Im Fehmarn Belt Feinsedimente bis Sande und nicht sediment [ et tet bis Restsediments
Sonarklassen (Ebene A
{ ) Sande - Restsediments
Feinsedimente
Sande und nicht spezifizierbares Sediment m Restsediments und nicht spezifizierbares Sediment
Feinsediment und nichte spezifizierbares Sediment ”
. Sande bis Feinsedimente ’,","4 Feinsedimente bis Misch imente bis Restsediment
Feinsedimente und Grobsedimente )
- Grobsedimente Mischsediments
I+ Feinsedimente und Restsediments -
. m Grobsedimente und nicht spezifizierbares Sediment 3 . Mischsedimente und Grobsedimente
Feinsedimente bis Sande p
E Grobsedimente und Feinsedimente ///‘ Mischsedimente bis Grobsediments
Frinsedimente bis Mischsedimente P
. BB crovsediments und Sende Y7/ Mischsedimente bis Restsedimente
. Feinsedimente bis Sande und Restsedimente
"his": "und": "nicht spezifizierbar":
Die Sedimenttypen sind im Rickstreu-Mosaik nicht eindeutig voneinander Engraumiger Wechsel von unterschiedlichen  fehlende Informationen uncfoder
differenzierbar. Je nach Beschaffenheit des Meeresbodens {z.B. Rauheit, Sedimenttypen; Abstand < 100 m. fehlendes Wissen flr eine genaue
Morphelogie) kdnnen gleiche Sedimenttypen unterschiedliche Rick- Die Flache weist im Riickstreu-Mosaik eine Klassifizierung.
streuungseigenschaften ader aber unterschiedliche Sedimenttypen Shnliche kleinrdumige heterogene Textur auf.
Rickstreuungseigenschaften aufweisen.
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Seabed Sediments (BSHAOW, 2012) Il Very coarse sand, very poarly sorted

Classification after Tauber (2012}

B Gravel, very well sorted

- Gravel, well sorted

- Gravel, moderataly sorted

- Gravel, poorly sorted

- Gravel, very poorly soried

- “ery coarse sand, very well sorted
- “ary coarse sand, well sorted

- “ary coarse sand, moderately sorted
- “ary coarse sand, poorly sortad

$

1
M"00E

[0 cCoarse sand, very well sorted

I Coarse sand, well sarted

- Crarse sand, modarataly sortad

- Crarsa sand, peory serted

- Cearse sand, very poary soried
Medium sand. very well soried

- Medium sand, well sorfed

I Medium sand, maderately sored

- Medium gand, paorly sortad
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